% i 2
B2 AZFFR
I 0. 3 4, 5 6. T
) 3) 1) ) 3 | M@ | M)
3 9 10.
1HR)B)GE) 2)3)@) | (1)@)S5)

BEXSY BECOE

— ~ BEEE

1.
HR
BAR
AT

S (ZEAE)
=RHEHET
HE f()=x"—9%*+21x—12
=x—3x% - 3+3 - x - 3?—3 4+ 21x—12—27x
+27
=(x—3)—6x+15=(x—3)’—6(x—3)—3
FRAEE S0 (3,—3) » #UEEQ) -

()
ERERES () =x"—9x7+21x— 12 HIHE L x AT Ry
-b_ —(—9) _

— = =3

3a 3x1

Bl y 048 8 £(3)=3>—9 - 32421 - 3—12=—3
Fr A g 0 Ry (3,—3) » #EQ) -

R B (RN ERED
BAR ¢ WEeR B R R BB
A ()X 1 (a,—b) A EHE y= log, x IEIP L

)Xt (a,b)~ (4a,b+2) 1 y=log, x KYEIL L >
Hy=log x Z2MOE THIEE -
it (@, b—1) F (4a , b) FTTEUIEREET G A
y=log, x WEIARZZ » A~ E

3) O y=2xfly=log, x WETLA G » W TE

Y o y=2

y=log,x
?l// x
cy=log, x Bl E A G HBAREFTIRITE
BEPRARINER 2
@) X y=log, x WEIY R & — » IR

(5) X : y=log, x 1 y=2" WETLA GHHA » 40Tl
y

y=2'

y=log,x

X

HUEQG)

4.

5.

@)
HR -
BAR
AT

3)

H R
BAR
ARHT

. ‘{3x—aSO

S ( STERARED
P TR

<a
5 b>O:> Ii
x x>—

:%qs%ﬂ@%ﬁg@z—gz “34-5

.‘.5S%<6:>15£a<18

—a=15>16 17

Hls%<2:>5sz:<10
=b=5:6>78>9

Ca+bHIEB 20212252324 25+26
HOE) -

EM (PEVIAH AR )
HEFIMRE ~ —TEAEH

| SRy 3 B E AT A R A N T EEE G

S By 4 (B AT AR/ A EE C &
DABLIEHE - B05 R 10 (1B H AT A RS RN 774
BE C, &
HUETBHEIER C° + C) 4o +CFE
B (1+x)"=Cx" + Cl'x ++-- +Crx
HCY+ Cl foenne + B
=1+D"= €~ ¢ — ¢’ =968 1
HUEEM) -

FE=R CPERE)

WIREVER

D3x+4y=5 T IBRES BEH (e, ) R (3, 4 BIN

BES

AL (6,8) - (x,»)=10"
BRI A AKIZE C B R (6, 8)
RABEERA CBHE x+y=14 HVER E

HOEEQ) -
(%)
5
tdy=5=17 37 eR
y=0—3¢t

EﬁP(%Mlt, w3tj > Clx,y)

H] 0P - 5?=10:>(—§—+4t,~3t} S, =10

:Gx—lo] T lax—3)=0 > BFFAER ¢ R
—S—x—10=0 {x:6

=13 =
{4x—3y:o y=8

FRLL CG6 , 8)

RABEIER C BE x+y=14 WE&R L
HOEQG) -



= BEE AR AR AR Ry
6. (1)2)4) i’
gk B (A0 o,
% . = SRS = AT _ )0 ) e ) ) A 5 )0 ) O
B ZARBES - —ARBHEY = "o, -
AR 1 f(x)=sinx—cos x= /2 sin (x_lj = IO 1)+ o 1) )+ (= 1) )
4 "o

WO : B 2 _ (D) (=) + (1) (=3)+(—2) (a—54) +1- (b—54) +3-5
16
(2)@:03xs%” s
T r _Sm rm _Iw =2
=>-Zgx— 22 22 8
4 476 4 1
. ju BAPHIE D+ h== 55w rerereererriiiniiiiiiiiiin, ®
&EX_Z:?H% S0 BRATE2 HO - @%1a=54 > b=53 = a>b
0)X: T = T () BRME 1 0=
@O :y= —\/Esinx _ ﬁsin(x_”) , \/é((53—54)2+(51—54)2+(54—54)2+(53-54)1+(59—54)2)
TR T SR = \Esin(x—%) e
(5)><:¥ﬁ;%$ﬂ32%x:~%+kﬂ » Horp k REE 36 . ;
% X5 E » o] B 352 _O-_Y:_
H0BE(1)2)4) - - >l ERERREr =1

7. (1)

o, ‘/E 2 *
5

B 1% : IWE GBI 4
) . 3 2 - 2)6)@)
XLy 8 L, AT B#% © R EEHEE S
R S | i y
2 —k 3
Q)X ry=mx+m—2=m(x+1)—2 (6,2)
SO (—1,-2) (=2,2) (1,0)1 N
B)O: LBLEY of
%m:_l ()X 1 " f(1)=0 > f(—2)=£(6)=2
S R BB L ELAE x=2 B R
=>m=-—
3 /ME
@)X % m= 215 L, 8 L, BE—E DO f(=D=a=b+e
N Eﬁiz . S HEEf(—1)=a—b+c>0
e ) L13“Lf? e 3O f(-2)=/(©)
13x—2y—1=0=6x—4y—2= _
! R
Ly 2x— —y+1=0= 6x—4y+3=0 2
3 - . @O #f)=a+2)x—6)+pxtq
Sd(lLy L) = 2l = f(=2)=f(6)=2
U Jeray 243 aptg—2
HEE(1)(3) - ’ '{6p+q:2
8. (DR)B)5) S.p=0-g=2
HR CETM (BEO) AR eR=A 2
BAZ ¢ fEAEE - AHBIARE (5) X B fx)=a(x—1)(x+2)+mx+n
Wi = 53+51+a+b+59 _163+a+b f()=0 H f(—2)=2
5 5  [m4+n=0
EEFEARONE (1, 1) —2mtn=2
_9,.27T_9 27 _ o2 2
E&ﬂy 8/‘x+ B 8X36+ > 54 ..m——?’-—— ’I’l—‘3—
EE#y:54:M s G h=107 «+evereer D Eﬁ(ﬁﬁﬁzﬁﬁiﬁ%i—z—xﬁL—i—
HEQ2)(3)@) -




(&)

“f(=2)=f(6)=2 H f(1)=0

SS@)=ad +bx+ce=a(x—2)*+k

HIf(1)=0=a+k
f(—2)=2=16a+k

— 2 -2
B ()= TR Y-

WX Ex=28  f() ﬁﬁ%xj\{a—%

2O f(—D=a—b+c= %(ul_z)l_

=—2>0
15
3)O : HFEER x=2
. _ 2. 2 2
4O fx) w@ 2) =
_2 5 _ 2
=15 (x*—4x+4) T
22
T x*—4x+3)
_2 _
kT (x+2)(x—6)+15)

=j%@+m@—®+2
SRR 2
)= 2 (2P 2
(S)X-f(X)*IS(x 2) 15
_2 5 _2
—15(x 4x+4) s

Z%«rﬂm+2—ﬁ+ﬁ

_2 _2..2
Ry x—D(x+2) 3x—i— 3
A%ﬁ%~%x+%
HUEE(2)(3)4) ©
10. (1)4)(5)

R ETW (SAL) C BEM (CPFEAER)
B FLEH - MEIGHEE
mar (1) O : W FE > PESE BC BAIHEE

E E
G D
H c
P
A B
@)X WNE - O BAEE/ UEPHIAE
E E
G D
c
H
A B

[1]

29
18
HA
B 1%

FEHT

12.(—8
HR
B A%

L

()X : BC 1 HE WEBEAETH
% AR 1 BC FFAT » BUEEFTAL
X E? + yﬁ
L IE B NEEL T
F E

A B
AR L EAG+ ZEFG

=%Wm%+MG%Fn
Bl L EAG=n— ZEFG
FfLA sin £ EAG=sin L EFG
! =8 EAD R1=F8JF GFD W4 MEBEENZEE—
& > FHEILEFE R R

. ED GD
—9JR=
AU A sin ZEAD sin ZGFD

HUE(1)@)65) -

~ BUERE

T (PRFIH AR )

D BRI

D HRENYAEE R 520 8465 4+355+459+7 5243
1

ﬁ%i%%%%%é;zg-

WO — XTSRS E R
1 1 1 1 1

7- — 414 —+7 —+9+- — +16- —
36 36 36 36 36

+

5.

&=

o

=1

29
18

,—6)

D (EAREE)
C HRTTIEAAIEH
y

PPQ,M:PQ,M

4 0(0,2)

s

Y0 - PR y BREVETEERER P2, 4)
R P 5318 Q BRI E SR T2 R
f’_’é Lx—y=-—2

# x=—8 fLATRy=—6
BRGSO (—8,—6) (YEIE -




13.

14.

15.

16.

8

=3

PR HT

324

HR
CEEEY - R
DY n R a,=20+(n—1)(—3)=—3n+23

B #%
ARHT

V15

15
H R
B 4%
AT

HR
B A%

DR (FEEEEHERED
CIREEUERN - EAEE
CEERHIRER X T

HI&KHE n S48 R I$E By x(1410 96)"
FHRE B F7IH 2x<x(1+10 %)"

Bl 2<(1.1)"

- 100A3010<(100,04I4)n: 100.0414n

= 0.3010<0.0414n

0.3010 797
0.0414

RlnZ/DE8 -

=>n>

BN (BFEEE)

~3n+23>0:>n<_2§3.:7_ ...... ,

FORAN TG AIE > 55 8 THES 20 HAE
H ag=—3x8+23=—1
Wlay l+1ay l+1ag |+ +lag |+l ayl
:(a1+a2+ ...... +a7)—(a8+a9+ ...... +020)
_ 70220+ (7—1)(=3)) . 1302 - (=) +(13—=1D(-3))
2 2

=324 -

DRI (=Ath)
F ZAPERARER
CEEREAPEER A

gl L s s s 84 - 124 -

164
FIFERE ARG A= 184 - 104 - 64 - 24 =124/154

= A(124154 —1)=0
1

I A=0 5% 0FE
il 36125( )
1o 1 1 A5
Pl— BEHEE R 124=12 =—_ =N
xé%mﬁfé% x12ﬁ§ NIRRT

D (EAREE)
| HAREERIRE

BEAT

p L
gz“‘aa.
B0 00, 1) » HAEE OP = 00 = 410

RS TSR B U Sy
Bl 2 POQ=90°

=P0 =,10+10 = 25 = PG = /5

=0G =105 =45
HEEH P — TR L Fx—2y+k=0
E\Ud(O,L):M:\/gjsz3gz7

Y2 (=2)
HWm=7 n=—3Fm=—3>n=7

B mtn=4-

17. 2
68
B © BT (IR
BHR | SR -
W SREEHNITATAE £y 123~ 234 - 345~ 456 4 478
SSRH EEGAS Y
AT =T R L s 0 —

FREY - REERIFEEEE
18. (3)

gk B (=)

BAR  PENE

AT - RIGRE H AT E Y T

bld
®’F
0 =
16 p0°
6027,
fTages 30
" AT Ry B
AT KIE BB 60° R
HIEQ) -
19. 53
S EDW (=)

8% PR
e FIE T DA BRI EEEE B 16 cos 60°=8 /AR »
1S FHIHFERE R 16 sin 60°= 8¢/3 AR
WW%E%E@SQE’%uﬁﬁwﬁﬁﬁgw
83
8
5

A FHER DR " =53 AR Fb -

O=¥53 AT

FRIE BT AR E R R A FESRE & 16 cos 60°=8 AR »
L FHIEERE 5 16 5in 60°= 83 AR (1 43)
WmﬁgﬁﬁwSQEv%u@@mﬁﬁﬁgw Q5

(153)

mraEEsnSS _sFar pe e
5
20.2 7

B (=ZAE)D
BAR | BRSZERE - FHMHE




it EEREE R
SUERIEARIRERE Ry St AR TR Ry T AR 40

TH
1,

BF =

Tt

16
60>
s ot
R B3 SRR

(762 =(5()*+162—2 - 5t - 16 - cos 60°
=32 4+101—32=0
= (t—2)(3t+16)=0

= =28 1= :él—é(xé)

RIFEZE2F)
OFFsEAl
s a7

RIERVEHIRERE Ry 5t AR 1 FHEHIEERER 7t AR > AR

51a
BF -
Tt
16
60>
as

EHERTZEHRA

(Tt =5t +16*—2 - 5¢ - 16 - cos 60° (2 53)
=3/ +10r—32=0

= (t—2)(3t+16)=0 (2%Y)

= i=2301= =" (F&) (19)

AIRZE2® - (159)




